*1

*2

Vol.29 No.1 2007

*3

SO3
1.
1900
3)
1
B
N
4)
CO,
SO3
1)
2.1
(N)
(BFS) (
SOs
2) _ 1
*1 ( )
*2
*3 (

-99-



No Blaine SO, (%)
' (cm?lg) (%) (%) N BFS
1 - 0.0 2.0 100.0 0.0 0.0
2 |BA (N+BS30) 4,000 29.7 2.0 69.3 29.7 1.0
3 BB (N+BS50) 4,000 48.3 2.0 50.0 48.3 17
4 |BC (N+BS70) 4,000 68.4 2.0 29.3 68.4 2.3
5 |BB (2000Blaine) | 2,000 46.6 3.0 50.0 46.6 3.4
6 |BB (3300Blaine) | 3,300 46.6 3.0 50.0 46.6 3.4
7 |BB (4000Blaine) | 4,000 46.6 3.0 50.0 46.6 3.4
8 |BB (6000Blaine) | 6,000 46.6 3.0 50.0 46.6 3.4
9 |BB (SO, 1%) 4,000 50.0 1.0 50.0 50.0 0.0
s 3 BB (SO, 2%) 4,000 48.3 2.0 50.0 48.3 17
3 7 |BB (SO, 3%) 4,000 46.6 3.0 50.0 46.6 3.4
10 |BB (SO, 4%) 4,000 44.9 4.0 50.0 44.9 5.1
-2
(%)
(cn’/g) lig.loss SiO, |Al,04Fe,04 Ca0 |MgO]| TiO,|MnO| SO; [Na,0| K,0|P,0s| € [Tota
N 3150, 1.17 |21.1| 56|2.94 63.9|1.67|0.36 |0.08|1.80 | 0.26 | 0.43 | 0.28 | 0.016 | 99.6
BFS 4150| 1.00|34.0|14.8|0.19 |42.7 562|059 |0.16| - |0.31]0.27|0.01|0.005|99.6
4560, 0.14 405 57.2 0.002 | 97.8
-3 N Rietveld
2.2 o
C3S | C2S | C3A | C4AF
2 56g/cm’ N 668 | 114 6.2 11.4
(W/B) 35%
sCcC 15
W/B 50% SIC 15
(N)
(BFS) (
) -2 XRD-Rietveld -1
OPC -3
2.3
@
40x 40x 160mm 24
3,7,28
Js SO; ?3)
3,7 -1 ¢ 100x 200mm
28
@)
2 @ 150x 200mm
200mm
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-2
-4
N/mm?
No. | 1 3 7 28
ol 1 - 526| 658| 775
30| 2 - 426| 59.1| 821
(%) 48| 3 - 338| 486| 79.7
68| 4 - 309| 524| 713
2,000 5 - 289| 403| 66.6
3,300 6 - 30.2| 437| 69.1
(cn’/g)| 4,000 7 - 370 541| 785
6,000 8 - 484| 695| 904
31 10| o9 77| 296| 467 -
4 S0, 20| 3 12.7| 338| 486 -
- %) 30| 7 119| 370| 541 -
6 40| 10 101| 359| 499 -
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